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Assessed Outcomes

P4 chooses and applies appropriate arithmetic, algebraic, graphical, trigonometric and :
geometric techniques | e

)
PE3 solves problems involving permutations and combinations, inequalities,
polynomials, circle geometry and parametric representations

Directions to Candidates

Attempt all questions

START EACH QUESTION ON A NEW PAGE
Show all necessary working on the paper
Calculators may be used

Good Luck!!

Question 1 (11 marks)

a) Divide the interval AB externally in the ratio 4 :3, where 4 is the point (2,—1) and B is
1,-3).

2 marks

b) Write the general form for the equation of a line with an angle of inclination of 135°,
cutting through the point A(0,3)."

2 marks
¢) Triangle ABC has vertices A(1,0), B(6,5) and C(0,3)
i) Show that AABC is right- angled. 2 marks
il) Find the equation of AB 2 marks

d) Find the equation of the line through the intersection of the lines x—y -3 =0 and
3x+y—5=0and the point (0,-2) without finding the point of intersection of the lines.
3 marks

Question 2: (8 marks)
a) Show that the acute angle 6 between the siraight lines y =x+2 and y=mx+cis

given by tané :m_—l . 2 marks
m-+1

b) The poing P (-2,5) divides the interval joining A (-4,1) and B (x,p) externally in the
ratio 2:3. Find the coordinates of point B. 2 marks

c) A line passing through (7,5) makes a right angle with the line 4x-y=6 at the point P.
Find the coordinates of P. 4 marks

Question 3: (11 marks)
2)

AT is a tangent to a circle center O. OC is parallel to AB and angle BAD is 43°. Let

angle AOC be x° and angle ABC be y°. Copy the diagram and find the values of x and y,
giving reasons.

4 marks




b) In the diagram below, O is the centre of the circle, ACis a tangent at B and D and E
are points on the circumference. If £ ABD =80° and £ DBE =40°, find the size of
ZBEO, giving reasons
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¢) Two circles, C1 and C?, intersect at points 4 and B. Circle C1 passes through the

centre O of circle C2. The point P lies on circle C2 so that the line PAT is tangent o
to circle C1 at point 4. Let 4PB=0
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& Copy or trace the diagram into your writing booklet.
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(i) Find AOB in terms of 6. Give a reason for your answer. 1 mark

(il) Explain why TAB=26.

L mark R - —
(ii1) Deduce that P4 = BA.
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